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>> t = 0:1/8000:1;
>> xx=sin(2%pi*400%t) ;
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>> xx2 = 1/2 * xx;
>> sound (xx2,8000)
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>> t = 0:1/8000:1;

>> x440=sin(2*pi*440%*t) ;
>> x660=sin(2*pi*x660*t) ;
>> xx = x440 + x660;

>> plot(xx(1:100));

>> sound(xx,8000) ;
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>> max (xx)
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>> xmax = [1] ( [2] (xx));
>> xnorm = xx [3] xmax;

>> sound (xnorm, 8000);
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>> soundsc(xx, 8000);
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>> x430 = sin(2%pi*430%t);
>> x450 = sin(2*pi*450%t);
>> xb = x430 + x450;
>> soundsc(xb,8000) ;
>> plot (xb(1:500));
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>> t = 0:1/8000:1;
>> sq3 = 4/pi * sin(2 * pi * 440 * t) + 4/pi/3 * sin(2 * pi * 440 * 3 * t)
>> sound(sq3, 8000);
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>> t = 0:1/8000:1;

>> sq = square(2 * pi * 440 * t);

>> plot(sq(1:100));

>> sound(sq, 8000);

>> tr = sawtooth(2 * pi * 440 x t, 0.5);
>> plot(tr(1:100));

>> sound(tr, 8000);
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